
cfGtl/s g]kfn ;/sf/ k|b]z ;= C)f hg;xeflutf

1= rfn' vr{

1=1 kbflwsf/Lx?s]f kfl/>lds tyf ;"ljwf 10,530,000.00 10,530,000.00

1=1=1 hgk|ltlglw kfl/>lds 3,778,000.00 3,778,000.00

1=1=2 a}&s eQf 5,652,000.00 5,652,000.00

|1=1=3 hgk|ltlglw b}lgs e|d)f eQf 1,100,000.00 1,100,000.00

2=1 sd{rf/Lx?sf] kfl/>lds tyf ;"ljwf 45,373,000.00 2,750,000.00 42,623,000.00

2=1=1 tna 18,400,000.00 18,400,000.00

2=1=2 dx+uL eQf 500,000.00 500,000.00

2=1=3 lkmN* eQf 300,000.00 300,000.00

2=1=4 cGo eQf 360,000.00 360,000.00

2=1=5 kf]zfs 563,000.00 563,000.00

2=1=6 ;]jf / k/fdz{ vr{ 500,000.00 500,000.00

2=1=7 cGo ;]jf z'Ns 19,800,000.00 19,800,000.00

2=1=8 sd{rf/L tflnd 200,000.00 200,000.00

2=1=9 pkbfg 1,000,000.00 1,000,000.00

2=1=10 ;]jf lgj[Qsf] ;+lrt labf 500,000.00 500,000.00

2=1=11 ;]]jf lgj[Qsf] cf]ifwL pkrf/ 500,000.00 500,000.00

2=1=12 g=kf=sd{rf/L sNof)f sf]if 500,000.00 500,000.00

2=1=13 sd{rf/L vfhf eQf 2,250,000.00 2,250,000.00

efg' gu/kflnsf, km';|]6f/ tgx'F 
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3=1 sfof{no ;+rfng ;DaGwL vr{ 13,474,000.00 13,474,000.00

3=1=1 kfgL tyf ljh"nL 400,000.00 400,000.00

3=1=2 ;~rf/ dxz"n 600,000.00 600,000.00

3=1=3 #/ef*f 2,052,000.00 2,052,000.00

3=1=4 cGo ef*f 480,000.00 480,000.00

3=1=5 Ogwg 2,168,000.00 2,168,000.00

3=1=6 ;~rfng tyf dd{t ;Def/ 1,400,000.00 1,400,000.00

3=1=7 ljdf 200,000.00 200,000.00

3=1=8 sfo{no ;DaGwL vr{ 3,000,000.00 3,000,000.00

3=1=9 k":ts ;fdfu|L vr{ 100,000.00 100,000.00

3=1=10 lgld{t ;fj{hflgs ;DklQsf] dd{t ;Def/ 100,000.00 100,000.00

3=1=11 sfo{qmd vr{ 30,000.00 30,000.00

3=1=12 lalaw 2,944,000.00 2,944,000.00

69,377,000.00 13,280,000.00 56,097,000.00

3=1=13 ;zt{ tkm{sf] rfn" -lzIff_ 189,085,000.00 189,085,000.00

3=1=14 ;zt{ tkm{sf] rfn" -:jf:Yo_ 24,728,000.00 24,728,000.00

3=1=15 ;zt{ tkm{sf] rfn" -s[lif.kz"_ 1,575,000.00 1,575,000.00

215,388,000.00 215,388,000.00

284,765,000.00 13,280,000.00 271,485,000.00

2= k'¤hLut vr{

2=1 k'jf{wf/sfo{qmd tkm{sf] vr{ 103,330,000.00 95,690,000.00 7,640,000.00   

2=2 ;fdflhs ljsf; tkm{sf] vr{ 30,120,000.00 29,418,000.00 702,000.00    

2=3 cfly{s ljsf; ;Dalw sfo{qmd vr{ 8,020,000.00 8,020,000.00

2=4 ;+:yfut ljsf;, ;]jf k|jfx / ;"zf;g 46,627,000.00 46,627,000.00

2=5 jftfj/)f tyf ljkb Joj:yfkg vr{ 17,270,000.00 17,270,000.00

k|zf;lgs rfn' vr{ tkm{sf] hDdf

z;t{ tkm{sf] rfn'ut vr{sf] hDdf

rfn"ut vr{sf] hDdf



2=6 ;*s af]*{ tkm{sf sfo{qmdsf] vr{ 7,000,000.00 7,000,000.00

;dflgs/)f cg"bfg k'+hLut tkm{sf] hDdf 212,367,000.00 204,025,000.00 8,342,000.00

2=7 ;zt{ cg"bfg k'+hLut -lzIff_ 22,080,000.00 22,080,000.00

2=8 ;zt{ cg"bfg k'+hLut -:jf:Yo_ 5,521,000.00 5,521,000.00

;zt{ cg"bfg k'+hLut tkm{sf] hDdf 27,601,000.00 27,601,000.00

k'+hLut sfo{qmdsf] s"n hDdf 239,968,000.00 231,626,000.00 8,342,000.00

524,733,000.00 13,280,000.00 503,111,000.00 8,342,000.00
hDdf Joo cg"dfg /sd ?=


